

Final Report on Use of The Hardship Fund, September 2019



Project Ref: FF 0473-33

Donation of **US\$5,000** from the **Fondation Eagle** received by the **Condor Trust for Education** on November 28th 2018

Summary of expenditure:

	US\$
Amount received (November 2018):	5,000
Amount spent (November 2018 – August 2019):	5,000
Amount remaining (September 2019):	0
Number of people supported:	64

How the money has been spent – November 2018 – August 2019

Health-related problems:	\$612
- Help with medical expenses for sister of student with cerebral palsy (\$300)	
- Psychiatric support for a Condor student (\$200)	
- Medical attention for a Condor student (\$112)	
Housing support:	
- Contribution towards purchase of land for the homeless family of a Condor student	\$700
Educational support:	
- Computer for a Condor student beginning tertiary education	\$846
- Notebooks and educational supplies for siblings and other children	\$625
- Contribution towards purchase of optical equipment for a Condor student	\$717
Unemployment support for mothers:	\$1,000
- Monthly payments to the unemployed mothers of three Condor students	
Employment support for mother:	
- Help to purchase necessary equipment for a sales business for the mother of a Condor student	\$500
TOTAL spent:	\$5,000

See next pages for further details of expenditure

HARDSHIP FUND EXPENDITURE, November 2018 – August 2019

 Condor Trust, September 17th 2019

	Amount Spent (US\$)	Number of people helped	Comments
Health-related problems			
Help with medical expenses for sister of student with cerebral palsy	300	1	One of the students the Condor Trust began to support in September 2018 has a sister with cerebral palsy. The mother is unable to work as she has to look after this daughter. The household income is extremely low and unable to encompass anything beyond basic expenditure. In this case, the girl was taken to hospital with pneumonia. We spent \$300 to help pay for the medical expenses associated with this incident.
Psychiatric help	200	1	This relates to one of the boys the Condor Trust supports who suddenly began to do badly at school in 2018. In our last report, we detailed \$400 which had been spent on 10 sessions with a psychiatrist at a reduced rate of \$40 per session to try and alleviate the student's depression. As reported previously, the boy completed secondary school successfully in summer 2018, but continued to have bouts of depression. The current \$200 paid for a further five sessions, which appear to have helped to some extent.
Medicine for one of our students	112	1	This is half the costs of medical treatment for one of the girls the Condor Trust supports, who suddenly began to put on weight to an incapacitating degree, such that she could not attend school.
Total - health-related	612	3	
Housing support			
Contribution to land purchase	700	10	One of the students the Condor Trust supports, and who is now studying at university in Quito, lives with her mother and eight brothers and sisters. In November 2018, the family were forced to leave the small house they were living in as the area was being redeveloped. This left them homeless. The government offered this family and the other families displaced the possibility to buy plots of land on the outskirts of Quito. Each family had to raise US\$2,000 to do this. The mother managed to raise US\$1,000 and our student US\$300. The Condor Trust donated the remaining US\$700, so the family could buy the land. The government subsequently began to help with the provision of a small, basic house on the land.
Educational support			
Computer for design course	846	1	One of the students the Condor Trust supports managed to get a place to study design in a tertiary college in Quito, starting in September 2018. The Condor Trust is paying her fees and living costs and also for some necessary equipment. For the second term, the college insisted that each student has his/her own computer with enhanced capabilities, in order for the student to be able to work on advanced designs. We used the Hardship Fund to buy a computer for this student. One of our Condor Trust alumni, who graduated four years ago and now works as a computer programmer in Quito, worked for free on the computer in order to adapt it for use by the student, thereby saving additional costs. Invoice attached to interim report.

HARDSHIP FUND EXPENDITURE, November 2018 – August 2019 (Cont)

	Amount Spent (US\$)	Number of people helped	Comments
Educational support			
Notebooks and educational supplies for siblings and other children connected to the Condor Trust	625	42	As in previous years, we purchased notebooks, pens, pencils and other school equipment for the brothers and sisters of the students the Condor Trust supports, as well as some other children we know are in need. This is a huge help for families at the beginning of the academic year. Photos and invoice attached.
Contribution towards purchase of optical equipment for a Condor student	717	1	This relates to one of the girls the Condor Trust supports who has begun a further education course in optometry. As was the case three years ago when another of our students took this course (and the Fondation Eagle supported him), she was asked to pay for her own equipment. Although the total cost was US\$1,232, the Condor Trust was able to bear 40% of the expense. Invoice & photo attached.
Family support			
Unemployment support for three mothers	1,000	3	Between April and June 2019, the mothers of three Condor students lost their jobs as house cleaners. This of course makes it extremely difficult for the family to survive and puts pressure on the family to ask the children to work. To avoid this, we paid these mothers \$100 per month (one for four months and two for three months). Two mothers have now found temporary work, and – as of August 2019 – one is still looking for employment.
Employment support for one mother	500	1	The mother of one Condor student lost her job as a cook in a small restaurant in June 2019. Unable to find other employment, she began to make empanadas (meat/vegetable pies) and sell them in parks at the weekend. This venture made a small profit, and the mother is keen to expand it into a business. To do this, equipment for making empanadas in quantity is necessary. We gave her \$500 towards this equipment, so that she can work and support her children.
TOTAL	5,000	64	

FACTURA ELECTRONICA		00101000001580	
AUTORIZACION		2907201901179125550001200101000001580000000016	
RUC: 179125550001	REPRESENTACION Y COMERCIO COMIRE CIA LTDA	Fecha Emision: 2019.07.29	REFERENCIAL: F1021580
Direccion: Jose Tamayo 1049 y Lizardo Garcia Telefono: 2946773 Correo: comtable@ecuapostcommerce.com comre1@ecuapostcommerce.com		Ambiente: PRODUCCION Obligado a llevar contabilidad: SI	
RAZON SOCIAL: MARIA DEL ROSARIO GUILLEN	FECHA EMISION: 2019.07.29	REFERENCIAL: F1021580	CONDICION: condre01@ecuapostcommerce.com
RUC: CI: 1791130385	TELEFONO: 2242772		
DIRECCION: LA CAROLINA			

CANTIDAD	CODIGO	DESCRIPCION	VALOR UNITARIO	DISCTO	SUBTOTAL
1.00	18320	SET FORTINO OPTALMO MARCA:WELCH ALLYN PROCEDENCIA:USA	1,100.00	0.00	1,100.00

SUBTOTAL:	1,100.00
DESCUENTO:	0.00
SUBTOTAL 9%:	0.00
SUBTOTAL \$2:	1,100.00
VALOR IVA:	132.00
VALOR TOTAL:	1,232.00

OBSERVACIONES:

FORMA DE PAGO: [20] OTROS CON UTILIZACION DEL SISTEMA FINANCIERO x \$1,232.00

CLAVE DE ACCESO: 2907201901179125550001200101000001580000000016



Educational Support

Invoice for purchase of optometry equipment, and student with the new equipment



* MEGARVAL 6 DE DICIEMBRE *

DIRECCION: SUJESMA

AV. SEIS DE DICIEMBRE S/N ENTRE MORENO Y REYAN

QUITO - ECUADOR

MATRIZ:

CORPORACION FAVORITA C. A.

AV. GENERAL ENRIQUEZ VIA COTACACHI

QUITO - ECUADOR

RUC:179016919001

Descripcion	Cantidad	Pre. Uni	Pre. Tot
TESALIA PAGUE 10 L	1	3.2143	3.211
TESALIA PAGUE 10 L	1	3.2143	3.211
TESALIA PAGUE 10 L	1	3.2143	3.211
TESALIA PAGUE 10 L	1	3.2143	3.211
**** BASE PARA DESCUENTOS ****		14.40	
RESMA PAPEL BOND 7	1	3.8500	3.85
RESMA PAPEL BOND 7	1	3.8500	3.85
RESMA PAPEL BOND 7	1	3.8500	3.85
RESMA PAPEL BOND 7	1	3.8500	3.85
RESMA PAPEL BOND 7	1	3.8500	3.85
RESMA PAPEL BOND 7	1	3.8500	3.85
**** BASE PARA DESCUENTOS ****		37.50	
**** DCTO. RECALCULADO ****		-5.20	
**** SUBTOTAL/TOTAL ****		32.50	
RESMA PAPEL BOND 7	1	3.8500	3.85
RESMA PAPEL BOND 7	1	3.8500	3.85
RESMA PAPEL BOND 7	1	3.8500	3.85
RESMA PAPEL BOND 7	1	3.8500	3.85
LAPICES DE COLORES	6	3.5268	21.161
ESBORADOR P220 X3	2	0.5922	1.201
SURTIDO JR. 100H/CU	10	0.8482	8.481
SURTIDO GRAP 100H	15	0.5804	8.711
PLGA EN BRASA 20GR	24	0.5464	22.711
PLGA EN BRASA 20GR	24	0.5464	22.711
MEMBRETE ESCOLAR M	35	0.4821	16.881
MEMBRETE ESCOLAR E	9	0.6786	6.111
JUEGO GEOMETRICO 3	1	0.7143	0.711
JUEGO GEOMETRICO 3	1	0.7143	0.711
JUEGO GEOMETRICO 3	1	0.7143	0.711
JUEGO GEOMETRICO 3	1	0.7143	0.711
JUEGO GEOMETRICO 3	1	0.7143	0.711
SOBRE CON VELCRO	1	0.6339	0.631
SOBRE CON VELCRO	1	0.6339	0.631
BULSA MEGARVAL POL	30	0.2589	7.771
SOBRE CON VELCRO	4	0.6339	2.541
**** BASE PARA DESCUENTOS ****		191.57	
**** DCTO. RECALCULADO ****		-13.02	
**** SUBTOTAL/TOTAL ****		178.55	
SOBRE PERFORADO HO	9	0.6339	5.711
SOBRE PERFORADO HO	6	0.6339	3.801
SOBRE PERFORADO HO	5	0.6339	3.171
SOBRE PERFORADO HO	5	0.6339	3.171
SOBRE PERFORADO HO	6	0.6339	3.801
SOBRE PLASTICO HER	4	0.6339	2.541
**** BASE PARA DESCUENTOS ****		216.42	
**** DCTO. RECALCULADO ****		-13.31	
**** SUBTOTAL/TOTAL ****		203.11	
CURPENO APAGADO	336	1.1161	375.001
BOLIG. BIC. CRISTAL	40	1.2232	48.931
LAPIZ GRAPITO OTHE	1	0.8304	0.831
LAPIZ GRAPITO OTHE	1	0.8304	0.831
LAPIZ GRAPITO OTHE	1	0.8304	0.831
LAPIZ GRAPITO OTHE	1	0.8304	0.831
LAPIZ GRAPITO OTHE	1	0.8304	0.831
**** BASE PARA DESCUENTOS ****		695.88	
**** DCTO. RECALCULADO ****		-75.64	
**** SUBTOTAL/TOTAL ****		620.24	
USB FLASH DRIVE 32	1	9.8125	9.811
**** BASE PARA DESCUENTOS ****		706.87	
**** DCTO. RECALCULADO ****		-81.64	
**** SUBTOTAL/TOTAL ****		625.23	
**** DCTO. RECALCULADO ****		0.0480	
**** SUBTOTAL/TOTAL ****		10094	
**** DCTO. RECALCULADO ****		-81.64	
AU Cheque F1		625.23	
CAMBIO USD		.00	

Educational Support

Right: Invoice for purchase of notebooks and other school equipment

Top left: Typical contents of packs: notebooks, paper, pens, pencils, ruler etc.

Centre left: Packs of books and equipment ready for distribution

Bottom left: Some Condor students collecting packs for their brothers and sisters

